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Okres miedzyszczytowy
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Okres wieczorny

[SP2_\wecgor] (60 / 59) [Program] (60 /29 [Prograny 2) (60/ 0] |8P4_reszia] {60/ 28]
E I )
: ferh /
=50 1 bt -5 kymh 5050-
E <40
A0 e — \ A0
=S5 kmh 3
3 31 305
2 o5 =40 mh E
20 203
-=5)
->40
E"IO B S kmih o 10
50 2% kb _
40 S0 kmh = A 404
=30 3 -
=20 _,,,J“*" e 203
=40
=10 = o 10-2
. <50 krh > 50T : I E
5 <-4l
E =50 tmh E
=" at 03
25 5 40 krh 28 E
3 }& - i
>40 - —_—
10 / L <50 vﬁ\
P
T T I T1 | ! (T I ] I | T I I FT T ] T ] UL I [ FTTT T 1T 11 [ I [ T TT I L | I ' o J TTTT | AL I L IR T T
] 00 b k" ] 400 500 600 700 800 %00 1000 110¢ 13
255 460 413
(254) (460) (418)
K2 142 X Ka\a
234 a7 33
(234) (495)
Kt L Kdi9
EgipskalAtonsa Egipska_Mikanska Bora_Komarowskego_Shkalskego BoraomMessnaa_k




WIAZKI KOORDYNACJI:

Szczyt poranny
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